THL WNM® BRI HAL"

ot T A AL

| n

YBF3 RII X BRIEE=HE LB
(Ex db I BT4 Gb)
(HES 63~355)

YBF3 Series Flameproof Asynchronous
Motor for Fan
(Exdb Il BT4 Gb)

L (Frame Size 63~355) J
& B % BB B

Maintenance Instruction

ZRIEEEINROBRAE

Anhui Wannan Electric Machine Co.,Ltd



OB EEN . R b AL

FEME A B Z A, F B EARE S,

1 P ik

YBF3 £ %1 XL FH b 12 2 = 4H
B OE 1

MIRLE , il R A Y
T1 ~ T4 URTIATE IR B RS 2 U R R KR PRI S R0 T R BE % b, AR XRBLI 3l 4%

PATHRHE: JB/T 7565.5-2015 (PRI =AH 5 D BN R 4F 26 5 34
I = A R BNl (WS 63 ~ 355) )
BEERD

2 FmBsSKk
EEZQM; SR X
Y E 3 —

7 2 b &

w
[\
|(/1
[N}

L

3 EAEERERSRMH
3.1 ERE MRS, RIREA . REHMEFRE L.

S BN (WS 63 ~ 355) .
WEHESRY R GB/T3836.2-2021 (JBRVEMIRES 45 2 ¥4y
% Ex db II AT4 Gb. Ex db II BT4 Gb. &HTF&H 1125A. B

&

DA 7% IE 3 B B8 R A 4k 47

2118 GB/T3836. 1-2021 (HREIEIEIL
H e £ o e

“d” RIIIBEAED)

: YBF3 Z 41 XML B
GB18613-2020 (/N4 =4 5720 LB HLRE R BE 2 15 & RE

PUEEK AT CREMLBESE Rk O )

BLBE 0
=it
AL
B 2
5335 AL

= 1

%X M5
Al T1 T2 T3 T4

Hbi. Lkt Wk | Tkt Wkt 428, | IKbe. 2ke. Bikis
TIA ROH. IR, H | BHEE. ABE. AR, | Rk ZhE. ek

K. —EAER. BEER | ARE SR SEh . TR

H PR M. 13T T HIERE RS | LR SRR
11B SRS, TR K 1 SURREE VUSRI . AR | — LTk

— NN A e




3.2 A&

3. 2. 1A 1000m.

3.2. 2 MBS SR EBE T AR Ak, (Himm A 35°C, &k -15°C.

3. 2. 3 MEE Al KA IR B AN I 90% (iR JE Y 25°CHY) .

3. 2.4 HBIHLAE LN 380V, 400V, 415V, 460V. 660V, 380/660V (3kW LA_L) .

3.2.5 HLENAL 3kW A BAR 9 Y $evk: 3kW DL BB I AL N A B, o 380/660V I,
380V WAL, 660V N Y $:ik.

3.2.6 FE AN 50Hz .

3.2. 7T HENHLAIE UL LLESE TAEH] (S1) NFEMERIESER, RYFHIELS).

.28 WML F 4%, & THAMETT (RFHIE) 1% 80K 4% (Firh 315 #if Mg A1 355
HUEE A= A% SO VP 4% 105K 12 o

4 HHNPNEBRBRZREEE
4.1 HUBHLIHLAE 5 b T T AR I R R 2.

= 2
[l B # # r/min
L oE B 3000 | 150 | 1000 | 750 600
) Z kW
63M1 0.18 0.12
63M2 0.25 0.18 )
71M1 0. 37 0.25 0.18 )
71M2 0. 55 0.37 0.25
8OM1 0.75 0. 55 0. 37 0.18
8OM2 1.1 0.75 0. 55 0.25
90S 1.5 1.1 0.75 0. 37
90L 2.2 1.5 1.1 0. 55
100L1 2.2 0.75
100L2 : 3 Lo 1.1
112M 4 4 2.2 1.5 B
13251 5.5
13252 7.5 >0 ’ 2
132M1 4
1322 ) 7o 5.5 ’
160M1 1 1 7.5 4
160M2 15 5.5
160L 18.5 15 1 7.5
180M 29 18.5 - -
180L - 29 15 1




x 2(%#)

[F 2 ¥ @ r/min
bl B 5 3000 | 150 | 1000 | 750 600
S
200L1 30 18.5
20012 37 Y 22 B
2255 - 37 - 18.5
225\ 45 45 30 22
250M 55 55 37 30
2805 75 75 45 37
280M 90 90 55 45
3155 110 110 75 55 45
315M 132 132 90 75 55
315L1 160 160 110 90 75
3152 200 200 132 110 90
35551 (185) (185) 160 139 (90)
35552 (200) (200)
355M1 (220) (220) (185) " 110
355M2 250 250 200 132
355L1 (280) (280) (220) (185) 160
35512 315 315 250 200 (185)
LR ES RO R
2 SMLIEEHRT 12 45 RER—HESHEE T RRAN) %,

4.2 BN R ZERXILE 3.

= 3
HLIEE S gt Je 2 5 (1D
63 ~ 112 B14. B34. V18
63 ~ 160 B3. B5. B6+ B7. B8. V1. V3. Vb, V6. V15, V36
80 ~ 355 B35
180 ~ 280 B3. B5. V1
315 ~ 355 B3. V1
5 ETEH

5. 1 HBIHUIHE L G AL T B HLIITAS, i =D BN MR 1. G TR E RS (SRR L)
ARG A ZR I PI RN G548, A Ve — Rt 1, 4% L 75 2220 I B — A (M6 S BATR) 3= A (M8 K BL 1)
M. fERA R S RA RGN IE DAL “0” B =

5.2 HAINLEE e AE SRR A V7 BB R ORI

5.3 HBIHIHLEE S 80 ~ 225 [kl AR & B 4K, HLES 250 L UL LA E 7 AMELE. HE
THIZRE o

5.4 EAINL ARG LA 1. @A iLIE 2.




6 BBRES

6.1 A RFIHAIH AR . & HBIHLA IR R 5 R IR SR IE R, R AR B S LA S AN B
PR S A R M BRI 1 R AR T s AR R KA AN Fo VR dd I H LAY R R 42 & T 51 R ARV E PR TR B 1)
RN

6.2 AL AL O CInFLEE ., s, FARN . RS, BAERE , BN LEALE
718 1. OMpa , JIJERE] N 10S+2 A#E IR, DIASHE KA EH# .

6.3 MBI AHMKEE . M. KRR, BEaNTREShRz . #ESRSEEI T
V) FY A< ) R % T PP 25 B #F 5 GB/T3836. 3.

6. 4 BEHE ARSI T MR AR 2 R IR, Bk BATRA M .

6.5 MLPE. Uig KNG, HR M. ARG, HEBR. mTE (BUEEHD .« B B
Gt PGP ST AR

6.6 FEHUE LIERE T, WA RMIIRE, By AT +130°C, (B4R HERE I LA
RIHN, AHEE +150°C . HELE AN B AT = T FH F R R VPR .

BE!

W BB HURT, B SR

RAG ., A, E AR AR R
TR TR AL, — R R R AR

7.1 ZAHH S
> AT anke A EIHLANIAE B SE I AR FL B AL R A A 1 S S T SR AT
> HENHLE G A PIEARE . P HAIER 5
> WIS TR T AR IR, KW ST S .
> T R F T A I A SR S B T I R A2 E Y B
> UM &S A HILIE ToRAL G BN AMET 20 MQ .,

BERREATRBIAEG, AhEday, GEARA, FaF ks LERA
R 5 HAMNEE, :

7.2 BE
> HUBIHLI 23 B B B AR N 5 5 il
> FEBIHLE R SR I A 245 50
> HLBIHLA 0 5 A 3 A SE B 0 LR R — 2
> R MBI, R I NCTAE BEE
> BRIERENLA IR (L) AEd. K.




LS R M B B B T I SLAR AR AT . (M R BE i/ N EL AR N D1, e KEARDY D5, 3 & A4
TR XH-21, Bk SORSF L3R 4 CRTARYE 5N L A RN R 5 B R D . S
GHAEZEAKRT on, HERKELSKRG, NORIES B 5 i 28 18] J B 5 R G2
I JC IR, 75 WKE 2K 25 R R P i

SIS L B AR Y 5 R E B 2 ), YR RO RN EER M, 5N FUI B2 1k
2ot it SIS AU A RN 5 TR A Bl 5 K [ e, Bk Bl

NS PR S TR A AR, FIIE NP AN ] R R 2 (AR s D o X
PIA L D, 5N —RZ RS R — A BEL TN, 55— AN B T
AIFE, KGR EBTEIERE

HBNHLIAE T U Ve W 58 NAMIEAE T Ay By CAHXT R,  HLBIHLES [a) ARl o HE.2 Ay
e g2 w i PR Bk p RS

HBNHLN . HME IR AR L0 25T ] SE

RENNLIEAF L, SR EmINICRIG, J7 Tl i T 2 His s, IFNEEia TR
MR, (28I AT TR EIET .

1. WIR W EG) IR ) RAF AL HE W EE 95% ~ 105%,
2, SMBIFEIE,

3. WHLIEAT A FF LRI,

4, BRIEFHIR . RAPE B B FHPEE IR S,

= 4
LR | B R
MLEES | D1 D2 D3 D4 D5 D b1 b
LRI
637132 d14 | ¢20 $ 25 42 0 —0.62 24 | 26
~ % & 3 _
1607180 d14 | &20 | 26 | ¢31 | &35 | H58 0 -0.74 | 24 | 26
2007225 ii $20 | $26 | 32 | 38 | d42 | H72 0 -0.74 | 30 | 32
2507280 s ®25 | &31 | 36 | 45 | 450 | $90 0 -0.87 | 36 | 38
3157355 d40 | &46 | d50 | 56 | d64 | 105 0 -0.87 | 44 | 46
k
kil
A
5e%¢
TRV
= = OJ{ My =D
(&= 0. 50 RRR|=
e
3
& 3




8 RFESHI(E

8. 1 NN & SR BRI v, AR AN HERR R AY, A5 7K Sk B i 45 F AL o

8. 2 WIS AT I FliZR R VFIREASMET 95 °C GREHE) |, Hh&EIZT 2500 /N (Z134E)
TR IR, QR I A VG A BT 20 R I S e, ST, UK R AN R T P R i A K
Hem 2% B 0 . RIS BT, IR VR R T e T, T R HEE R A BRI IR 2 5 (6B
7324-2010) , b VB yott 456 FH MDD et Ik TR) WL PR 5, ATLJRR 5 FE F il R LS WM R 6.«

8.3 X TAAELERI BN, U 2 /A K LR IE R 180 FE: fA i B, mlisk—
Bt a), A o R VR 0 A Y 5

8. 4 72 FL BN HLIN NVE BRI BE R IHT » H8O0 ~ 132 HLIRE S i AL BEAT Sl AR 9 4h o R ) BB ML,
RGeS BB AR ) V7 RURRE PR, RS0 A . 5 o i PR [ R, RS i G I AT
B EAR . BETCIT, A BRI T R 4R 204-1 BT EEJIE

8.5 HUNLSZW 5, WA TR AL B JG 77 nI s F o T MR A B ] SR R ML B0 R B PR o FEME RS I AR
TERLE T, (AR 145°C . FAE B kT Re,  OZEZM By B 2, Dk
RAHMBIG . ) B TREERE, HBMAHERA 0.6 ~ 0. 8 5%l R E N H

8.6 HGHIS, Zilid FESAHM AL RSP M, A R ISR, W A W 2R L
B R BT SR A 2 3 A AL T L R AL, DL BEAE A

8.7 BiEIMLAE . T, JUH LA HE AR N A RER R ERAT 4R . i,




2 5: HRIDIEMERE0HETE

HLEE 5 e % MR () AN TE] Ch)
2 20 4200
180 4 20 7000
6, 8 20 9000
2 25 3100
200 4 25 6500
6, 8 25 8500
2 25 3100
225 4 30 6200
6, 8 30 6200
2 30 2600
250 4 35 6000
6, 8 35 8000
2 35 2000
280 4 40 5500
6, 8 40 7500
2 30 2500
315 4,6,8, 10 36 2500
2 36 2500
355 4 47 2500
6,8, 10 47 2500
& 6
PLEE 5 % b o1 3 A e i
63 2~ 8P 6201-2RS 6201-2RS
71 2~ 8P 6202-2RS 6202-2RS
80 2~ 8P 6204-2RS 6204-2RS
90 2~ 8P 6205-2RS 6205-2RS
100 2~ 8P 6206-2RS 6206-2RS
112 2~ 8P 6206-2RS 6206-2RS
132 2~ 8P 6308-2RS 6308-2RS
160 2P 6309-2RS 6309-2RS
4~ 8P 6309-2RS 6309-2RS
180 2P 6311/V2 6211/V2
4 ~ 8P 6311/V2 6311/V2
900 2P 6312/V2 6312/V2
4 ~ 8P 6312/V2 6212/V2
995 2P 6312/V2 6312/V2
4~ 8P 6313/V2 6312/V2
950 2P 6313/V2 6313/V2
4 ~ 8P 6314/V2 6313/V2
980 2P 6314/V2 6314/V2
4 ~ 8P 6317/V2 6314/V2
315 2P 6317 6317
4 ~ 10P NU319 6319
355 2P 6319 63192V
4 ~ 8P NU322 63227V




2IMINNS J0JOA] | STy

WEYEWEY 1HE

Jooadawe g | 1
il

ADA0D IdUUI
duLeag

GULIBDE]

¥E BEBNE O\

H

2t

T E_ duepd uwondunluod jooudawey )

=
]

wey mvﬁ\ lff:.fr! .‘ﬂ_._. 2 n_“u\u_ Il

11 o] B HHY
Mn|ﬂw Funivag

AIADD

ELT o
Hﬂm 1010y

=
19400 pUd ABY W‘ﬁ Mﬁ HM -
auepd _ _
E a_ﬂw\ ﬂu ﬁ E uorpunluod

[Th P
Jooadawey g E 4@ ﬂ% E
a D auepd wondunluod joosdaure] g
12402 puy .W W

| il |

%% g \iil

auejd wondunluod jooudawey |

[EUNETRE] n:“,_..“.m.,__ ﬁ .._% ..%n @

100D XOq [BUILLID],




2INJIN.I)S XO( [RUILLIAY, T S1

WES%%E (H

[2uuny xoq [RUI ], SuL Burpeag £poq xoq [RuI], ADA0D [BUILLID], aurjd wonaunfuod jooadawe g

k3%3 mwifﬁi 1% [ mongy

noq

g:zt&::ab

A2A0D X0

\\\\H 7 i W.@.ﬁ ﬂ“ [GUIUSEY]

HEBEY EEENE ERHEEE @

auepd uonaun (uod joordaweyg aueld jooudaweyy praay |, su-0




We are truly grateful for your purchasing of Wannan Motors. Before using the motor, please

scan the QR code to read the manual so as to use and maintain the motor in a right way.

1. Summary

YBF3 series flameproof asynchronous motor for fan (frame size 63~355) are manufactured
according to the requirements of standard GB 3836.1-2021 “Part 1 of Electrical equipment used in
explosive environment: General Requirement” and GB3836.2-2021 “Part 2 of Electrical equipment
used in explosive environment: The Apparatus with the flameproof enclosure “d”. Marked with Ex
db II AT4 Gb. Ex db Il BT4 Gb, the series motors can be used for driving fan in workshop where
there is Category II Class A and B flammable gas or the flammable mixture with air and steam in
Temperature Group T1~T4.

YBF3 series motors are found to be in conforming to the requirements of standard JB/T
7565.5-2015“Specification of flameproof three-phase Asynchronous motor: Part 5 YBF3 series
flameproof three phase asynchronous motor for fan (Frame 63~355)” and GB 18616-2020 “minimum

allowable values of energy efficiency and values of efficiency grade for motors” (grade 3).

2. Designation and types
YBF3—-13282—-2

L Poles
Frame size for length

(second length of stator core in short frame)

Frame central height

3rd design

Fan application

Flameproof type

Induction motor

3. Application circumstance

3.1 The applicable common inflammable gas, steam and temperature groups are listed in
the table 1 below:

Table 1
- Group
e
P Tl T2 T3 T4
Methane, cthane, butane, propane, ethyl |pentane, hexane,
I A |Propane, styrene, benzene, methanol, heptane, octane, decane,
toluene, xylene, carbon |ethanol, propyl alcohol, |cyclohexanekerosene,
monoxide, acetic acid Benzene alcohol diesel oil, gasoline
. ethylene, butadiene dimethylether, propylene ethyl methyl ether,
propine, cyclopropane, aldehyde, hydrogen .
IIB epoxy ethane, epoxy diethyl ether,
coke oven gas Fopane furfuryl alcohol furan, tetrafluorocthylene
prop hydrogen sulfide Y

10




3.2 Operating condition

3.2.1 Not exceed 1000m above the sea level.

3.2.2 Ambient temperature varies as seasonal variation, but the temperature shall not beyond the
range -15C ~+35C.,

3.2.3 Maximum ambient relative humidity 90% (when temperature is 25°C )

3.2.4 Motor rated voltage 380V, 400V, 415V, 460V, 660V. 380/660V (Above 3kW) .

3.2.5Motor of 3kW and below shall adopt Y connection; but the motor over 3kW shall adopt
/\ connection for single rating voltage motor; for motor of dual- voltage 380/660V, 380V shall be
connected as A, 660V as Y.

3.2.6 Rating frequency 50Hz.

3.2.7 The rating here refers to the continuous rating power on the basis of S1 operation system,
the motor allows direct starting.

3.2.8 The series motor is of F insulation grade, the maximum temperature rise for stator is 80K
(by resistance method), except for the motors of frame size 315/355 whose stator temperature rise are

allowed to be checked as 105K limit.

4. Main technical parameter and installation type

4.1 Main technical parameter see table 2

Table 2
Synchronous speed r/min
Frame 3000 1500 1000 750 600
Power kW
63M1 0.18 0.12
63M2 0.25 0.18 )
71M1 0.37 0.25 0.18 )
71M2 0.55 0.37 0.25
8OM1 0.75 0.55 0.37 0.18
80M2 1.1 0.75 0.55 0.25
90S 1.5 1.1 0.75 0.37
90L 2.2 1.5 1.1 0.55
100L1 2.2 0.75
100L2 3 3 = 1.1 )
112M 4 4 2.2 1.5
13281 55
13282 7.5 > 3 22
132M1 132M1 4
132M2 ) 132M2 5.5 .
160M1 11 11 7.5 4
160M2 15 5.5
160L 18.5 15 11 7.5

11




Table 2 (Continued)

Synchronous speed r/min
Frame 3000 1500 | 1000 | 750 600
Power kW

180M 22 18.5 - -

180L - 22 15 11

200L1 30 18.5

200L2 37 30 22 =

2258 - 37 - 18.5 -
225M 45 45 30 22

250M 55 55 37 30

280S 75 75 45 37

280M 90 90 55 45

3158 110 110 75 55 45
315M 132 132 90 75 55
315L1 160 160 110 90 75
315L2 200 200 132 110 90
35581 (185) (185)

160 132 (90)
35582 (200) (200)
355M1 (220) (220) (185) 160 110
355M2 250 250 200 132
355L1 (280) (280) (220) (185) 160
35512 315 315 250 200 (185)
Note: 1. The models with bracket are not preferred recommended type.
2. The figures 1. 2 behind S. M. L refer to the different output power of the motors with
the same frame and speed.

4.2 Motor Structure and installation type see table 3
Table 3

Frame Structure and Installation Code (IM)
63 ~ 112 B14. B34. V18
63 ~ 160 B3. B5. B6. B7. B8, V1. V3. V5., V6. V15, V36

80 ~ 355 B35
180 ~ 280 B3. B5. V1
315 ~ 355 B3, VI

5. Main Structure

5.1 Terminal box is on the top of the motor, with 3 or 6 connecting terminals. 2 kinds structure
are suitable: rubber-sheathed cable (or plastic cable) wiring and steel pipe wiring, One grounding

terminal in each connection box, on which there is one outlet (M6 or below), or two outlets (M8 or

12




above) (depending on its requirement). At the front edge between connection box body and its cover
an o-sealing ring will be fitted.

5.2 V-sealing ring is adopted at the rotation part of motor shaft.

5.3 The frame 80~225 Motors use sealed bearing, the motors of frame 250 or above are equipped
with on-the-go oil filling/discharging device.

5.4 Subject structure of the motor see figure 1, and the structure of terminal box see figure 2.

6. Explosion-proof highlight

6.1 The series motor highlights its explosion-proof feature. If the explosive mixture inside
the motor explodes, the motor shall not be damaged or deformed to the extent that may affect its
explosion-proof performance. The flame inside should not pass through conjunction plane to cause
explosion of the flammable mixture outside the motor.

6.2 Components of the explosion-proof motor (such as cover, bearing inner cover, connection box
cover, connection box body etc.) should be tested with 1.0Mpa static pressure for 10S+2. The motor
should be checked as qualified one if they won’t drip in or after the test.

6.3 The length of the explosion-proof conjunction plane, clearance, roughness of the surface, the
electric clearance between the bare conductors, the electric clearance between bare conductor and
metal casing all should be in accordance with GB3836.3..

6.4 Spring washer on fastening bolt can prevent the bolts releasing down from explosion-proof
casing.

6.5 Frame, end closure, bearing inner cover, terminal box cover, terminal box body, connection
bolt, terminal lugs (or connection board), bearing, rubber seal ring all are explosion components.

6.6 When rating operating, motor surface temperature must be lower than +130°C when used in
coal mine, or lower than +150°C if there was coal dusty on its casing. Temperature at cable inlet shall

be no higher than the cable allowable temperature.

7. Installation and operation

Warning!

Handle the motor with care.
Strong fall, impact, vibration will heavily damage bearing or explosion proof

components.
Fasten onto the lifting hook tightly if the motor is moved by the crane.

7.1 Inspection
> Check the appearance of the motor to see whether it is in good condition, and check the
nameplate to see whether the data is conform to actual requirement.
> Check whether motor has explosion-proof mark, explosion-proof certificate Number.

> The explosion proof components are connected correctly and tightly.

13




> There should be neither crack on explosion proof component nor defect that affects the

explosion proof performance.

> Check the cold insulation resistance of the stator winding, and ensure that the resistance

value should be no less than 20MQ.,

Warning!
The series motors are only for non-working face application. Any question discovered

during inspection, contact with us or consulate technician.

7.2 Installation

> Motor should be installed by technician.

> Spring coupling ought to be used to drive the motor.

> Keep the shaft center of the motor at the same level with that of driven machine

> For the motor with feet, all the feet should be fixed to sound and flat plane.

> Power wires should be neither too thin nor too long.

> External diameter of the cable should fit bore diameter of the seal ring. The min diameter

of cable is D1, max D5, seal ring is of rubber XH-21, specification and dimension see
table 4(concentric-ring of seal gasket can be stripped off to fit inner diameter of incoming
cable). The diameter gap ought to be less than Imm. Clamp the connection plug and
ensure that there is no clearance between seal ring and power cable as well as between seal

ring and connection box body, otherwise the motor will lose its explosion-proof function.

Table 2
Frame size | C°°° | Sealing | DI | D2 | D3 | D4 D5 D bl | b
entry
63~132 eld | 20 025 | 042 0-0.62 | 24 | 26
160~180 eld | ¢20 | 926 | @31 | ¢35 | 958 0-0.74 | 24 | 26
200~225 I:Egﬁ Fig3 | 20 | ¢26 | ¢32 | 938 | 42 | ¢72 0-0.74 | 30 | 32
250~280 025 | ©31 | 936 | 045 | 950 | 990 0 —0.87 | 36 | 38
315~355 040 | 946 | 950 | 056 | @64 | @105 0-0.87| 44 | 46

("

=

U]
De
D
D4
D

Fig 3

14




> The lead-in cable core should be attached between arched washers, and thorn on the cable
corn can’t be protruding. Prevent the cable corn from damaging when pulling it out through
the bonding hole. The lead-in cable shall be fixed by connection board on arched washer to
avoid movement.

> To fit different supply voltage, different connection method should be chosen. For the
connection box which has 6 terminals, connection way can be changed by connection
strap. As one multi-core cable is introduced into one of the inlet holes, the blank cover of
the other unused hole can’t be removed; otherwise the motor will lose its explosion-proof
function.

> U, V. W phase sequence of the motor should match A. B. C phase sequence. Shaft
rotates clockwise from the view of DE.

> Internal and external grounding screw bolts need to be connected to ground.

> Check the motor first and do not power on until the motor has been confirmed to be no
problems, and then conduct no-load running test. When all runs smoothly the motor can be
put into load operation.

Warning!

1. Supply voltage fluctuation should not go beyond the range+5% the rated voltage.
2. Ground wire must be connected

3. Turn off the motor when abnormal problem occurs.
4. Keep the person and clothe away from the rotation part.

8. Maintenance

8.1 Examine and clean the motor periodically, ensure that no dust accumulate on the casing.
Spraying with tap for cleaning is not allowed.

8.2 Bearing permitted temperature should not exceed 95°C during its operation (by thermometer
method), the motor should be examined at least once for every 2500-hour operation (approximate half
a year). Bearing lubrication grease should be replaced when it is found to be spoiled. Before that the
waste grease at bearing external cover, storage box, grease discharging device including oil tube and
oil cup should be cleaned up, and clean the bearing with machine oil. No.2 lithium-base lubricating
grease (GB 7324-2010) for small medium size motor is recommended. re-grease duration and grease
mass see table 5, bearing type see table 6.

8.3 Turn the shaft by 180° with hand every 2 month for the motor which has been stored half year;
the motor need to work for a period of time to make the lubrication grease equidistribution when the
motor has been stored longer than half year.

8.4 Take care of the explosion-proof plane if the motor need to be dismantled. Frame H80~132
Motors have no internal and external shaft cover, so windshield should be removed at first, then

remove the V-shape shaft sealing ring, knock down the fastener on front and rear end closure, and

15




take out rear end closure together with the rotor and fan. Explosion proof plane of the motor has been
painted with 204-1 rust protection grease when assembled.

8.5 Motor must be dried before use if the motor has been affected with damp, either by means of
drying in the oven or short-circuit current. If dried in the oven the temperature should be increased
gradually but not exceed 145°C . And when the motor adopt short-circuit method, it should be connected
as short circuit whose input current is 0.6-0.8 times rated current. However the short-circuit method is
not suitable if the motor is heavily damped, since it may cause the electrolysis.

8.6 When the winding need to be changed, please keep such data as the type size, wire gage,
number of turns of the original winding firmly in mind. Contact us and ask for the date in case they
are lost. Winding should not be optionally changed, otherwise some of the motor’s properties may be
deteriorated and even affect its running.

8.7 Explosion-proof components should be repaired, replaced, tested by technician following

relevant technical standards.

Table S Lubrication Grease Content and Lifespan

Frame Poles Grease content (g) Re-lubrication interval (h)

2 20 4200
180 4 20 7000
6.8 20 9000
2 25 3100
200 4 25 6500
6,8 25 8500
2 25 3100
225 4 30 6200
6,8 30 6200
2 30 2600
250 4 35 6000
6.8 35 8000
2 35 2000
280 4 40 5500
6.8 40 7500
2 30 2500

315
4,6,8,10 36 2500
355 2 36 2500

16




Table 6 Bearing Type

Frame Poles DE Bearing NDE Bearing
80 2 ~ 8P 6204-2RS 6204-2RS
90 2 ~ 8P 6205-2RS 6205-2RS
100 2 ~ 8P 6206-2RS 6206-2RS
112 2 ~ 8P 6206-2RS 6206-2RS
132 2~ 8P 6308-2RS 6308-2RS

2P 6309-2RS 6309-2RS
160 4 ~ 8P 6309-2RS 6309-2RS
2P 6311/V2 6211/V2
180 4 ~ 8P 6311/V2 6311/V2
2P 6312/V2 6312/V2
200 4 ~ 8P 6312/V2 6212/V2
2P 6312/V2 6312/V2
222 4 ~ 8P 6313/V2 6312/V2
2P 6313/V2 6313/V2
230 4 ~ 8P 6314/V2 6313/V2
2P 6314/V2 6314/V2
280 4 ~ 8P 6317/V2 6314/V2
315 2P 6317 6317
4 ~ 10P NU319 6319
2P 6319 63192V
355
4 ~ 8P NU322 6322ZV

17




ADA0D IdUUI
duLeag

GULIBDE] Jooadawey

=
]

[EUNETRE] n:“,_..“.m.,__ ﬁ .._% ..%n @

BERHY

12403 puty .W W
FHE

100D XOq [BUILLID],

¥E BEBNE O\

2INPONAJS J0)OA]

HEYEWEH

(=1

I o4

1

e

2t

auwpd
uonpunluod
Jooadawrey

oo | | KEERRREII | 2

duepd uwondunluod jooudawey )

B HHY
Mn|ﬂw Funivag

AIADD

ELT o
Hﬂm 1010y

BGRHY

auryd nondunluod joosdawey g

——— B9EHY

auejd wondunluod jooudawey |

18




2INJIN.I)S XO( [RUILLIAY, T S1

WES%%E (H

[aUuny Xoq [RUA ], Buw Buipeag £poq xoq [RuI], ADADD [BUIULD | auepd wonaunluod jooadaweyy

k3%3 mwifﬁi 1% [ mongy

noq

g:zt&::ab

A2A0D X0

m @ ﬁ % Jeuru |,

HEBEY EEENE ERHEEE @

auepd uonaun (uod joordaweyg aueld jooudaweyy praay |, su-0

19




WERRP:

BERBAMERIZEBINE, [ERERMEFENVL, FPEATREME. RIEAIRS

ERMYUERIRES, BNBEAARKBESRHNEKR, HMIBERNEFERERE, BEH4AR
FRIEBGBRIF(IRE, LMEIIS0HE, AERMMLER. RERRS

LR BRI B IR RN BT AN (E AR B B IR E RZ BN

BOERSZFRREZHEEENRODERADPEFINBER TEE=Z0EH. QMmEEERNE
FiIZBABREA .

Dear user,

Please use and store the motor right following the instruction of the manual. We will make our
effort to provide you with high—quality and prompt service. Contact us if you had any questions
in application, and we will offer you timely and effective resolution; let us know if you had any
advices or suggestions, with which we can improve ourselves and make service better. Anhui
Wannan Motor Co., Ltd. reserves the right of final interpretation of the user manual. No copy,
disclosing or using of the content of this user manual to third parties prior to written permission
from Anhui Wannan Motor Co., Ltd.

ZRIZFAEBEIRODERAE

Anhui Wannan Electric Machine Co.,Ltd

it 2HERER)IEFEEE 86 =

Address: No0.86 Nanhua Road Jingxian County Anhui Province P.R.C
fHEL Sales department: 400-111-0563 0563-5031908 5031988
EF RS0 Customer service center: 0563-5031953

A EEL Enterprises management department: 0563-5031954
BEE#IEL Quality inspection department: 0563-5031910 5031985
fEH2 Fax: (0563) 5029999 5023698

It Website: http://www.wnmotor.com

E-mail: wndjc@wnmotor.com
BR4%s Postal code: 242500

AHBABASTNEE, BASBTEM.
Content in the manual may be changed without prior notice.



